# EQUIVALENCE ON HIROSHIMA'S TYPE INEQUALITIES FOR POSITIVE SEMIDEFINITE BLOCK MATRICES 

Yun Zhang*, Haibo Zhang and Shuo Shi

(Communicated by T. Burić)


#### Abstract

In this paper, we prove that some Hiroshima's type inequalities for positive semidefinite block matrices are equivalent. These interesting results are due to Hiroshima [Phys. Rev. Lett. 91, (2003), 057902], Lin and Wolkowicz [Linear Multilinear Algebra 60, 11-12 (2012), 1365-1368], Turkmen, Paksoy and Zhang [Linear Algebra Appl. 437, 6 (2012), 1305-1316], Zhang and Xu [J. Math. Inequal. 14, 4 (2020), 1383-1388], respectively.


## 1. Introduction

Let $M_{m, n}$ be the space of all complex matrices of size $m \times n$ with $M_{n}=M_{n, n}$. For $A \in M_{n}$, the vector of eigenvalues of $A$ is denoted by $\lambda(A)=\left(\lambda_{1}(A), \lambda_{2}(A), \ldots, \lambda_{n}(A)\right)$ and $A^{*}$ is the conjugate transpose of $A$. In this paper, we use $A \oplus B$ to represent the block matrix $\left[\begin{array}{cc}A & 0 \\ 0 & B\end{array}\right]$. Now, we recall the definition of majorization. Given a real vector $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbb{R}^{n}$, we rearrange its components as $x_{[1]} \geqslant x_{[2]} \geqslant \cdots \geqslant x_{[n]}$. For $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right), y=\left(y_{1}, y_{2}, \ldots, y_{n}\right) \in \mathbb{R}^{n}$, if

$$
\sum_{i=1}^{k} x_{[i]} \leqslant \sum_{i=1}^{k} y_{[i]}, k=1,2, \ldots, n
$$

then we say that $x$ is weakly majorized by $y$ and denote $x \prec_{w} y$. If $x \prec_{w} y$ and $\sum_{i=1}^{n} x_{i}=\sum_{i=1}^{n} y_{i}$ holds, then we say that $x$ is majorized by $y$ and denote $x \prec y$.

The study of eigenvalue majorization inequalities plays an important role in matrix analysis. A fundamental result due to Schur [1, 5, 8, 12], which stated that the diagonal entries of a Hermitian matrix $A$ are majorized by its eigenvalues, i.e.,

$$
\begin{equation*}
\operatorname{diag}(A) \prec \lambda(A) . \tag{1.1}
\end{equation*}
$$

[^0]This result was extended by Ky Fan [2] to block Hermitian matrices, i.e., let $H=$ $\left[\begin{array}{ll}A_{11} & A_{12} \\ A_{12}^{*} & A_{22}\end{array}\right]$ be a block Hermitian matrix with $A_{11}, A_{22} \in M_{n}$. Then

$$
\begin{equation*}
\lambda\left(A_{11} \oplus A_{22}\right) \prec \lambda(H) \tag{1.2}
\end{equation*}
$$

For the case of $2 \times 2$ block-partitioned positive semidefinite matrices, we list some related interesting results. Let $H=\left[\begin{array}{ll}A_{11} & A_{12} \\ A_{12}^{*} & A_{22}\end{array}\right]$ be a positive semidefinite block matrix with $A_{11}, A_{22} \in M_{n}$. Lin and Wolkowicz [7] proved that if $A_{12} \in M_{n}$ is Hermitian, then

$$
\begin{equation*}
\lambda(H) \prec \lambda\left(\left(A_{11}+A_{22}\right) \oplus 0\right) . \tag{1.3}
\end{equation*}
$$

Turkmen, Paksoy and Zhang [9] proved a parallel result: If $A_{12} \in M_{n}$ is Skew-Hermitian, then

$$
\begin{equation*}
\lambda(H) \prec \lambda\left(\left(A_{11}+A_{22}\right) \oplus 0\right) . \tag{1.4}
\end{equation*}
$$

Recently, Zhang [13] gave a general result:

$$
\begin{align*}
\lambda(H) \prec & \frac{1}{2} \lambda\left(\left[A_{11}+A_{22}+i\left(z A_{12}^{*}-\bar{z} A_{12}\right)\right] \oplus 0\right) \\
& +\frac{1}{2} \lambda\left(\left[A_{11}+A_{22}+i\left(\bar{z} A_{12}-z A_{12}^{*}\right)\right] \oplus 0\right), \tag{1.5}
\end{align*}
$$

in which $i^{2}=-1$ and $|z|=1$. We notice that (1.3) and (1.4) are special cases of (1.5) by setting different values of $z$.

For the case of $s \times s$ block-partitioned positive semidefinite matrices with $s \geqslant 2$, there are some parallel results to (1.3) and (1.4). Let $H=\left[A_{i j}\right] \in M_{s n}$ be an $s \times s$ block-partitioned positive semidefinite matrix with $A_{i j} \in M_{n}$ for $i, j=1, \ldots, s$. In 2003, Hiroshima [4] proved a very attractive result, i.e., if $A_{i j} \in M_{n}$ are Hermitian matrices for all $i \neq j$, then

$$
\begin{equation*}
\lambda(H) \prec \lambda\left(\left(\sum_{i=1}^{s} A_{i i}\right) \oplus 0\right), \tag{1.6}
\end{equation*}
$$

which is extremely valuable in quantum physics. Motivated by the inequality (1.4), Zhang and Xu [11] generalized (1.4) to the following: If $A_{i j} \in M_{n}$ are Skew-Hermitian for all $i \neq j$, then

$$
\begin{equation*}
\lambda(H) \prec \lambda\left(\left(\sum_{i=1}^{s} A_{i i}\right) \oplus 0\right) . \tag{1.7}
\end{equation*}
$$

Another elegant proof of (1.7) is due to Zhang [10].
Although Hiroshima's result (1.6) has useful applications in quantum physics (see, e.g., $[3,6]$ ), it seems not widely known in the field of matrix analysis. Indeed, independent of the Hiroshima paper, Lin and Wolkowicz derived (1.3) as the special case of (1.6). In fact, (1.3) and (1.6) are equivalent. In this paper, we aim to show that all the above results are actually equivalent.

## 2. Main results

The following lemma is well-known.
Lemma 2.1. [12, p. 32] Let $A \in M_{m, n}$ with $m \geqslant n$. Then

$$
\lambda\left(A A^{*}\right)=\lambda\left(A^{*} A \oplus 0\right)
$$

THEOREM 2.2. The following statements are equivalent:
(a) [7, Theorem 1.1] Let $H=\left[\begin{array}{ll}A_{11} & A_{12} \\ A_{12}^{*} & A_{22}\end{array}\right]$ be a positive semidefinite block matrix with $A_{11}, A_{22} \in M_{n}$. If $A_{12} \in M_{n}$ is Hermitian, then

$$
\lambda(H) \prec \lambda\left(\left(A_{11}+A_{22}\right) \oplus 0\right) .
$$

(b) [7, Corallary 2.2] Let $A_{1}, A_{2} \in M_{n}$ with $A_{1}^{*} A_{2}=A_{2}^{*} A_{1}$. Then

$$
\lambda\left(A_{1} A_{1}^{*}+A_{2} A_{2}^{*}\right) \prec \lambda\left(A_{1}^{*} A_{1}+A_{2}^{*} A_{2}\right) .
$$

(c) [4] Let $A_{1}, A_{2}, \ldots, A_{s} \in M_{n}(s \geqslant 2)$ with $A_{i}^{*} A_{j}=A_{j}^{*} A_{i}(1 \leqslant i<j \leqslant s)$. Then

$$
\lambda\left(\sum_{i=1}^{s} A_{i} A_{i}^{*}\right) \prec \lambda\left(\sum_{i=1}^{s} A_{i}^{*} A_{i}\right) .
$$

(d) [4] Let $H=\left[A_{i j}\right] \in M_{s n}$ be an $s \times s$ block-partitioned positive semidefinite matrix with $A_{i j} \in M_{n}$ for $i, j=1, \ldots, s,(s \geqslant 2)$. If $A_{i j} \in M_{n}$ are Hermitian matrices for all $i \neq j$, then

$$
\lambda(H) \prec \lambda\left(\left(\sum_{i=1}^{s} A_{i i}\right) \oplus 0\right) .
$$

Proof. $(a) \Rightarrow(b)$ See [7, Theorem 1.1].
$(b) \Rightarrow(c)$. We use induction on the number of matrices. For $s=2$ the assertion is due to $(b)$. Now let $s \geqslant 2$ and assume that the statement $(c)$ holds for the number $s$ of matrices.

Setting

$$
H_{1}=\left[\begin{array}{cc}
A_{1} & 0 \\
0 & A_{1}
\end{array}\right], \quad H_{2}=\left[\begin{array}{cc}
A_{2} & 0 \\
0 & A_{2}
\end{array}\right], \ldots, \quad H_{s-1}=\left[\begin{array}{cc}
A_{s-1} & 0 \\
0 & A_{s-1}
\end{array}\right]
$$

and

$$
H_{s}=\left[\begin{array}{cc}
A_{s} & A_{s+1} \\
A_{s+1} & -A_{s}
\end{array}\right]
$$

Next we only need to show that $H_{i}^{*} H_{j}=H_{j}^{*} H_{i}(1 \leqslant i<j \leqslant s)$. We can divide it into two cases.

Case 1: $1 \leqslant i<j \leqslant s-1$. It is easy to check that

$$
H_{i}^{*} H_{j}=H_{j}^{*} H_{i}
$$

Case 2: $1 \leqslant i \leqslant s-1, j=s$. By a straight calculation, we also have

$$
H_{i}^{*} H_{s}=H_{s}^{*} H_{i} .
$$

By the induction hypothesis, we get

$$
\lambda\left(\sum_{k=1}^{s} H_{k} H_{k}^{*}\right) \prec \lambda\left(\sum_{k=1}^{s} H_{k}^{*} H_{k}\right) .
$$

That is

$$
\lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & A_{s} A_{s+1}^{*}-A_{s+1} A_{s}^{*}  \tag{2.3}\\
A_{s+1} A_{s}^{*}-A_{s} A_{s+1}^{*} & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right) \prec \lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k}^{*} A_{k} & 0 \\
0 & \sum_{k=1}^{s+1} A_{k}^{*} A_{k}
\end{array}\right]\right) .
$$

Applying (1.2), we have

$$
\lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & 0  \tag{2.4}\\
0 & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right) \prec \lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & A_{s} A_{s+1}^{*}-A_{s+1} A_{s}^{*} \\
A_{s+1} A_{s}^{*}-A_{s} A_{s+1}^{*} & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right)
$$

Combining (2.3) and (2.4) gives

$$
\lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & 0 \\
0 & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right) \prec \lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k}^{*} A_{k} & 0 \\
0 & \sum_{k=1}^{s+1} A_{k}^{*} A_{k}
\end{array}\right]\right),
$$

i.e.,

$$
\lambda\left(\sum_{k=1}^{s+1} A_{k} A_{k}^{*}\right) \prec \lambda\left(\sum_{k=1}^{s+1} A_{k}^{*} A_{k}\right) .
$$

$(c) \Rightarrow(d)$. Let $H=P^{*} P$, where $P=\left[A_{1}, A_{2}, \ldots, A_{s}\right] \in M_{n, s n}$ with $A_{i} \in M_{n}$ for $1 \leqslant i \leqslant s$. By Lemma 2.1 and the statement $(c)$, we have

$$
\begin{aligned}
\lambda(H) & =\lambda\left(P^{*} P\right)=\lambda\left(P P^{*} \oplus 0\right)=\lambda\left(\left(\sum_{i=1}^{s} A_{i} A_{i}^{*}\right) \oplus 0\right) \\
& \prec \lambda\left(\left(\sum_{i=1}^{s} A_{i}^{*} A_{i}\right) \oplus 0\right),
\end{aligned}
$$

i.e.,

$$
\lambda(H) \prec \lambda\left(\left(\sum_{i=1}^{s} A_{i i}\right) \oplus 0\right) .
$$

$(d) \Rightarrow(a)$ Taking $s=2$.

THEOREM 2.5. The following statements are equivalent:
(e) [9, Corollary 5] Let $H=\left[\begin{array}{ll}A_{11} & A_{12} \\ A_{12}^{*} & A_{22}\end{array}\right]$ be a positive semidefinite block matrix with $A_{11}, A_{22} \in M_{n}$. If $A_{12} \in M_{n}$ is Skew-Hermitian, then

$$
\lambda(H) \prec \lambda\left(\left(A_{11}+A_{22}\right) \oplus 0\right) .
$$

(f) [9, Corollary 4] Let $A_{1}, A_{2} \in M_{n}$ with $A_{1}^{*} A_{2}=-A_{2}^{*} A_{1}$. Then

$$
\lambda\left(A_{1} A_{1}^{*}+A_{2} A_{2}^{*}\right) \prec \lambda\left(A_{1}^{*} A_{1}+A_{2}^{*} A_{2}\right) .
$$

(g) [11, Corollary 6] Let $A_{1}, A_{2}, \ldots, A_{s} \in M_{n}(s \geqslant 2)$ with $A_{i}^{*} A_{j}=-A_{j}^{*} A_{i}(1 \leqslant i<$ $j \leqslant s)$. Then

$$
\lambda\left(\sum_{i=1}^{s} A_{i} A_{i}^{*}\right) \prec \lambda\left(\sum_{i=1}^{s} A_{i}^{*} A_{i}\right) .
$$

(h) [11, Theorem 1] Let $H=\left[A_{i j}\right] \in M_{s n}$ be an $s \times s$ block-partitioned positive semidefinite matrix with $A_{i j} \in M_{n}$ for $i, j=1, \ldots, s,(s \geqslant 2)$. If $A_{i j} \in M_{n}$ are Skew-Hermitian matrices for all $i \neq j$, then

$$
\lambda(H) \prec \lambda\left(\left(\sum_{i=1}^{s} A_{i i}\right) \oplus 0\right) .
$$

Proof. The proof for Theorem 2.5 is similar to that for Theorem 2.2. We only show that $(f) \Rightarrow(g)$. These are left as exercises for the reader.

We use induction on the number of matrices. For $s=2$ the assertion is due to $(f)$. Now let $s \geqslant 2$ and assume that the $(g)$ holds for the number $s$ of matrices. Setting

$$
H_{1}=\left[\begin{array}{cc}
A_{1} & 0 \\
0 & A_{1}
\end{array}\right], \quad H_{2}=\left[\begin{array}{cc}
A_{2} & 0 \\
0 & A_{2}
\end{array}\right], \ldots, \quad H_{s-1}=\left[\begin{array}{cc}
A_{s-1} & 0 \\
0 & A_{s-1}
\end{array}\right]
$$

and

$$
H_{s}=\left[\begin{array}{cc}
-A_{s} & -A_{s+1} \\
-A_{s+1} & -A_{s}
\end{array}\right] .
$$

For $1 \leqslant i<j \leqslant s-1$, it is clear that

$$
H_{i}^{*} H_{j}=-H_{j}^{*} H_{i}
$$

For $1 \leqslant i \leqslant s-1$ and $j=s$, we also have

$$
H_{i}^{*} H_{s}=-H_{s}^{*} H_{i}
$$

By the induction hypothesis, we obtain

$$
\lambda\left(\sum_{k=1}^{s} H_{k} H_{k}^{*}\right) \prec \lambda\left(\sum_{k=1}^{s} H_{k}^{*} H_{k}\right) .
$$

That is

$$
\lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & A_{s} A_{s+1}^{*}+A_{s+1} A_{s}^{*}  \tag{2.6}\\
A_{s+1} A_{s}^{*}+A_{s} A_{s+1}^{*} & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right) \prec \lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k}^{*} A_{k} & 0 \\
0 & \sum_{k=1}^{s+1} A_{k}^{*} A_{k}
\end{array}\right]\right) .
$$

Applying (1.2), we have

$$
\lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & 0  \tag{2.7}\\
0 & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right) \prec \lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & A_{s} A_{s+1}^{*}+A_{s+1} A_{s}^{*} \\
A_{s+1} A_{s}^{*}+A_{s} A_{s+1}^{*} & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right)
$$

Combining (2.6) and (2.7) gives

$$
\lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k} A_{k}^{*} & 0 \\
0 & \sum_{k=1}^{s+1} A_{k} A_{k}^{*}
\end{array}\right]\right) \prec \lambda\left(\left[\begin{array}{cc}
\sum_{k=1}^{s+1} A_{k}^{*} A_{k} & 0 \\
0 & \sum_{k=1}^{s+1} A_{k}^{*} A_{k}
\end{array}\right]\right),
$$

i.e.,

$$
\lambda\left(\sum_{k=1}^{s+1} A_{k} A_{k}^{*}\right) \prec \lambda\left(\sum_{k=1}^{s+1} A_{k}^{*} A_{k}\right) .
$$

REMARK 2.8. From the proof of [9, Corollary 4], we can see that the statement (b) in Theorem 2.2 and the statement $(f)$ in Theorem 2.5 are equivalent. Therefore we can conclude that all the statements of Theorem 2.2 and Theorem 2.5 are equivalent.

Acknowledgement. The work was supported by the National Science Foundation of Anhui Higher Education Institutions of China (KJ2021ZD0058, KJ2019A0588).

## REFERENCES

[1] R. Bhatia, Matrix Analysis, Springer-Verlag, New York, 1997.
[2] K. FAN, On a theorem of Weyl concerning eigenvalues of linear transformations. I., Proc. Nat. Acad. Sci. U.S.A. 35, (1949), 652-655.
[3] O. G Ühne, G. T о́тн, Entanglement detection, Phys. Rep. 474, 1-6 (2009), 1-75.
[4] T. Hiroshima, Majorization criterion for distillability of a bipartite quantum state, Phys. Rev. Lett. 91, (2003), 057902.
[5] R. A. Horn, C. R. Johnson, Topics in Matrix Analysis, Cambridge University Press, Cambridge, 1985.
[6] R. Horodecki, P. Horodecki, M. Horodecki, K. Horodecki, Quantum entanglement, Rev. Modern Phys. 81, 2 (2009), 865-942.
[7] M. Lin, H. Wolkowicz, An eigenvalue majorization inequality for positive semidefinite block matrices, Linear Multilinear Algebra 60, 11-12 (2012), 1365-1368.
[8] A. W. Marshall, I. Olkin, B. C. Arnold, Inequalities: Theory of Majorization and Its Applications, 2th, Springer, New York, 2011.
[9] R. Turkmen, V. E. Paksoy, F. Zhang, Some inequalities of majorization type, Linear Algebra Appl. 437, 6 (2012), 1305-1316.
[10] F. Zhang, A note on "An eigenvalue inequality for positive semidefinite $k \times k$ block matrices", J. Math. Inequal. 16, 1 (2022), 347-354.
[11] F. Zhang, J. Xu, An eigenvalue inequality for positive semidefinite $k \times k$ block matrices, J. Math. Inequal. 14, 4 (2020), 1383-1388.
[12] X. ZHAN, Matrix Theory, American Mathematical Society, Vol. 147, Providence, 2013.
[13] Y. Zhang, Eigenvalue majorization inequalities for positive semidefinite block matrices and their blocks, Linear Algebra Appl. 446, (2014), 216-223.
(Received October 8, 2022)
Yun Zhang
School of Mathematical Sciences Huaibei Normal University Huaibei 235000, China
e-mail: zhangyunmaths@163.com
Haibo Zhang
School of Mathematical Sciences
Huaibei Normal University Huaibei 235000, China
e-mail: 1401911433@qq.com
Shuo Shi
School of Mathematical Sciences
Huaibei Normal University Huaibei 235000, China
e-mail: shishuomath@foxmail.com


[^0]:    Mathematics subject classification (2020): 15A42, 06A06, 15B48.
    Keywords and phrases: Positive semidefinite block matrices, eigenvalue inequality, majorization.

    * Corresponding author.

